L=137fb " T1tttt(2100,100) T1tttt(1900,1250) RI-R3fit RI-R4fit Obs.
200 < piss < 350 GeV
R1 0.0 1.1 7706 7705+87 7706
R2: Np =1, Nets = 7 0.0 0.1 1088 1088432 1088
R2: Np = 1, Niets > 8 0.0 0.1 732 736426 732
R2: Ny = 2, Niets = 7 0.0 0.1 879 882430 879
R2: Np, = 2, Njets > 8 0.0 0.3 644 642425 644
R2: Ny > 3, Niets = 7 0.0 0.2 237 235415 237
R2: Np > 3, Niets > 8 0.0 05 202 200+14 202
R3 0.0 2.2 472 473420 472
R4: Ny =1, Niets = 7 0.0 0.2 70410 702+46 70
R4: Np = 1, Niets > 8 0.0 0.3 37.7+56 383+28 42
R4: Ny = 2, Niets = 7 0.0 0.4 56+12 55.7+45 59
R4: Ny = 2, Niets > 8 0.0 0.6 379481 374431 35
R4: Ny > 3, Niets = 7 0.0 0.4 192449 187+21 17
R4: Np > 3, Nies > 8 0.0 ' 0.9 129433 124+15 10
350 < pmiss < 500 GeV
R1 0.0 0.9 967 968+31 967
R2: Np =1, Niets = 7 0.0 0.1 208 207+14 208
R2: Ny = 1, Niets > 8 0.0 0.2 150 148412 150
R2: Np = 2, Niets = 7 0.0 0.1 139 142412 139
R2: Ny = 2, Niets > 8 0.0 03 111 112411 111
R2: Np > 3, Niets = 7 0.0 0.2 30 301453 30
R2: Ny > 3, Nies > 8 0.0 0.6 38 37.7+60 38
R3 0.1 2.9 68 670465 68
R4: Np = 1, Niets = 7 0.1 03 152437 153+21 14
R4: Np = 1, Niets > 8 0.0 0.4 99+27 97416 8
R4: Ny = 2, Niets = 7 0.1 05 108431 113+17 14
R4: Ny = 2, Nigis > 8 0.1 13 66+19 68+1.1 8
R4: Ny > 3, Niets = 7 0.1 0.7 28+11 29+07 3
R4: Np > 3, Niets > 8 0.1 2.1 33+£12 33+07 3
pmiss > 500 GeV
R1 0.1 0.6 434 434421 434
R2 Ny = 1,6 < Niets < 7 0.1 0.1 158 160+13 158
R2: Ny, = 1, Nigs > 0.0 0.2 41 417+64 41
R2: Ny = 2,6 < Nigts < 7 0.1 0.2 80 805488 80
R2: Np, = 2, Njets > 0.1 03 34 320455 34
R2: Np > 3,6 < Nits <7 0.1 0.2 20 19.8+£45 20
R2: Np, > 3, Nigs > 0.1 05 10 101+£31 10
R3 0.6 3.2 28 279442 28
R4: Np = 1,6 < Nigis <7 0.6 0.5 94+31 102+19 12
R4: Ny = 1, Nigs > 0.3 05 21+08 23406 3
R4: Np = 2,6 < Nigts <7 0.9 1.0 53+£20 55+1.1 6
R4: Npp = 2, Njegs > 0.6 1.3 21+09 20+£05 0
R4: Npp > 3,6 < Nigts <7 0.8 0.9 12406 12404 1
Ré: Np > 3, Niggs > 0.8 2.3 08+04 09+03 1



